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5. A project involves the following activities, which are shown in the following table.

Activity Completion time (days) Predecessors

A 3.0 none
B 2.0 A

i 8.0 none
D 6.0 B¢
E 4.0 &

F 5.0 Dy E
G 1.0 D,E
H 2 B

| 6.0 F, G

4

What is the critical path? (5%)

How many days will it take to complete the overall project if activity G did
not start until day 16, and actually takes 5 days to complete?(5%)
What is the latest time that activity B can start and not delay the overall

project? (5%)

6. A company uses item 2456 at a very stable rate, averaging 50,000 pounds per year.

The ordering cost is $30.  The monthly inventory holding cost for item 2456 is

1.6667 percent of its unit cost. Assume that item 2456 is needed at a constant rate

throughout the year, and that it takes 7 days for an order to arrive at the company.
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There are 250 working days in a year.

Order quantity Unit price ($/pound)
Less than 2500 pounds 0.82
2500-4999 pounds 0.81
>= 5000 pounds 0.80

A. What is the best order quantity? (5%)
B.  What is the minimum total annual cost for item 24567 (5%)

7. Erikson Vision, Inc. manufactures color PC monitors. Semi-annual (3 4) sales

for these machines for the past 3 years are shown below.

t Year Time Sales
. period (units)
1 2008 1st-half 800
2 2nd-half 1200
3 2009 Ist-half 1100
4 2nd-half 1400
5 2010 Ist-half 1200
6 2nd-half’ 1700

A. Using exponential smoothing, with o= 0.6, what is the forecast of sales for
the second half of 2009? (F; = Fy_| + a (4,1 - F,_)) (5%)

B. Using a three period weighted moving average with two of the weights
given by 0.7 and 0.2, what is the forecast for the second half of 20117 (5%)
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